HERMERAB 112 2FEF 1 28

[(FELE] I=RRE

PE4R Bk e MpE BT B/EH BT ‘R

g A8 — G1201102 =038 1119 93.25 12 95 1
g A8 — G1201101 ZO= 744 93 8 915 2
By G1201105 TOE 1109 9242 12 925 3
HEAABR_ 2] A 28 PR AR
TERREE— G1214104 BRO=A 843  93.67 9 89 1
TEZRER— G1214106 BROIE 828 92 9 92 2
TEZREE— G1214102 2|038 828 92 9 89 3
TEZRRER_ G1114193 710} 652 9314 7 95 1
TEZRREE_ G1114104 BROtR 644 92 7 935 2
TERKREE _ G1114102 ROZ 642 9171 7 945 3

B &R — G1236105 BOm 1116 93 12 87 1

B &R — G1236101 tHO3E 1113  92.75 12 90 2

B &R — G1236103 2 O3H 1092 91 12 87 3




